Homework Tasks (Year 5):

e Comprehension: Please complete — and mark —‘The Listeners’ on pg.2 and 3 of this file.
Answers can be found on pg.4. Your responses should be recorded in your Homework Jotter
provided by school.

e Maths: Please complete — and mark — ‘Divide with Remainders’ on pg.5 of this file. Answers
can be found on pg.6. Please use these to help work out how to answer any questions you
are unsure about. Your responses should be recorded in your Homework Book provided by
school.

Please ensure your completed homework is handed in at school on
Wednesday 5" December.

e Spelling: A spelling test on Autumn 2 list of words will take place next Friday.
The list of words is available separately on the Woodpecker Class page of the school
website. Please log onto Spelling Shed to support practice at home.

e Multiplication Facts: A test of a variety of multiplication facts will take place every
Thursday. Please practise all facts up to 12 x 12.

e Reading: You are expected to do at least 20 minutes of independent reading at home,
every day. Please remember to log all new books read — both those at home and at school
— In our class reading log as there are no home reading records in Woodpecker Class:
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Text'fc;c'us: Narrative:

The Listeners

Based on the poem by Walter de la Mare

“Is there anybody there?” The Traveller rapped the heavy iron ring against the dark oak door at
the entrance to an unknown place. Pale moonlight cast dappled shadows across the frame. Thick
ferns blanketed the ground, their heavy dew soaking into the Traveller’s boots. The only noise was
a soft crunch as the Traveller’s horse chewed on the grass. All other sounds seemed insignificant as

if heard through a thick mist.

A sleek, black bird streaked from a stone turret that towered overhead. The Traveller stepped back,
startled. With anger in his fist, he leapt forwards and rapped again on the door. “Is there anybody

there?” he asked.

Nobody answered. He pressed his ear to the door and listened. There was nothing but endless,
eerie silence. He glanced up at a window lined with ivy. He half-expected to see somebody staring
down into his perplexed, grey eyes. Yet there was nothing. The icy fingers of terror sneaked

between the layers of his coats and played about his beating heart.

Perhaps if he had known the truth of the matter, he would have been more scared still. For he
was being listened to on the other side of the door. Beyond the dark oak and the ivy-lined sill, the
Listeners listened. They stood and listened to the voice of the Traveller, as though it had travelled

itself through a thick mist.

Along the empty hallways of the house, they drifted. Were they there before they hearkened the
strange voice from the world of men? Or did they only exist in the air stirred and shaken by the
Traveller’s loud calls? Whatever their reasons, the Listeners listened, beyond the oak and the ivy-

lined sill.

Their presence hadn’t gone unnoticed. The Traveller’s skin prickled at something he couldn’t

explain. Somewhere in his icy heart, he felt a strangeness; their stillness an answer to his call.

Once more, he smote the door; louder this time, more urgent. He lifted his head and shouted, “Tell
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them | came.” He waited a while for their absent answer. “Tell them that | kept my word,” he cried.

Beyond the oak, the Listeners listened but never stirred. Every word the Traveller spoke fell like
iron echoes in the shadowy stillness of the house. Though they knew that he was the last man left

awake, they remained silent.

They remained silent and listened to the sound of a foot being slipped into a stirrup. They heard

the rasp of iron shoes on cobblestones and heeded the silence that surged softly over them as the

last man left awake departed.

RETRIEVAL FOCUS

1. What are “dappled shadows”?

2. What does the phrase “with anger in his fist” tell you about how he knocked the door?

3. Find an example of personification within the text.

4. The author has used examples of alliteration within the text. What impact does this have?

5. What does the word “absent” tell you about the Listener’s answer?

VIPERS QUESTIONS

The attitude of the Traveller changes over the story. Explain how.

How many times does he knock on the door?
What do you think the Listeners are?

What do you think it means when it says “the last man left awake”?

Why was the Traveller desperate for the Listeners to know he kept his word? Who do you
think “them” is?



Answers - The Listeners:
1. Specks or small shadows in a pool of light - when leaves cast a shadow
2. It was loud and forceful/angry/impatient

3. Theicy fingers of terror sneaked between the layers of his coats and played about his beating

heart.
4. Any suitable explanation of how the alliteration makes them feel as a reader

5. It never came/wasn’t there/there wasn’t an answer.

E: At the beginning he is angry and trying to work out if anybody is there. By the end, he realises
that there are things listening and wants to make sure they know he came. He is more urgent than

angry at the end.

R:3

P: Suitable explanations may include ideas such as ghosts or spirits or even his imagination
I: He is the last person left alive/the only person in his world

P: Children may talk about “them” being deceased relatives/heaven/religious aspects who will

judge him



Divide with Remainders

4. Use >, < or = fo complete the statement below.

6|17 8 4 & 719 1 4 7
1,000 1,000 1,000 100 100 100 10 10 (1 (1 1,0001,000 1,000 100 10 10 1 (1
1,000 1,000 100 100 100 10 1) @ 1,000 1,000 1,000 10 1) (i
1,000 1,000 100 100 10 1) @ 1,000 1,000 1,000 10 1 @1

W

5. Complete the Carroll diagram.

Remainder of or between 1 | Remainder of or between 4
and 3 and 7

Answer below
1,000

Answer above
1,000

| 2345:3 | | se96:7 | | ss09¢5 | | 76296

é. Find the missing digits.
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Divide with Remainders

Expected
4.>
5. R inder of or befy 1R inder of or bet A
and 3 and 7
Answer below s3= =
1,000 2345+3=78112 5,496+7=81315
Answer above Shm +5=
1,000 7629+6=127113 6,609 +5=1,321r4
6.
1|12|0| 7|9 12|01 v

6|2|12(4|7 8|19 6 1 4
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